


O, [kmol/kg- ]
0O,=(c/12)+(h/4)+(s/32)-(0/32)

C 12 |C+0,=CO,

H 1 H+1/40,=1/2H,0
S 32  |S+0,=SO,

0 16 |0-1/20,=0

N 14 |[N=1/2N,

L,={(c/12)+(h/4)+(s/32)-(0/32) (22.4/0.21)

Ly [miy/kg- ]

=8.89¢+26.7(h-0/8)+3.33s

1kmol

22.4md,,




(air ratio

L=A L, [m3/kg- ]

A=1.1~1.3
A=1.2~14 A=1.4~-2.0
A Ao
A=1.7~1.9
A=1.2~14 2
A=1.3~15

A=21/ 21-[0,])

o [O]

[%]




1kg clkg] hkg]
slkg] o[kg] n[kg] Wikg]
A

Vi [m?y/kg]
V,=22.4>(c/12) CO,

+22.4><{(h/2)+(W/18)} H,O
+22.4><(s/32) SO,

+0.21(A-1) =L, 0,
+0.79A =< L ;+22.4><(n/28) N+ N,
=1.867c+11.2h+1.244W+0.7s+0.8n

+(A-0.21)L,




Vp [m3/kg]
V,=1.867¢+0.75+0.8n+(A-0.21)L,

0 C0O,=1.867>(c/V,)><100 [%]
0 0,20.21<{(A-1) L, /Vy><100[%]
0 N,={0.79A L,+0.8n}/V,><100[%]

10




u.ﬂﬂ.krr FTR

EFL T L %
G.m_m WO, GO,
n“v" m,r;a WL 50,628
. S Wy, Oy

l‘lﬂ KEHE

1R R

CCROEMAN
¥EE ERta aa wHEn

t t t {
S = Rl ARl LERR— r!ﬂl—‘—"' E
A ;0 J
FREMEE wSa—n BN =0 HERLL—H Emhﬂl

H 6.2-1 R b — AR BBEOBIEESE
(BT L 2 BEWOBIER] p.30 —8HEE)

11

M f:?{ji:‘:i}
i,
BHH = =i
RODFi ¥ r—p i =
i /ann
B i
1R R R 7 |
(AWML= % Bt
. Ry ARE
e AR LY
% ey .
THMHER D
'
el & I HEXEE
wIno AR xmn  BEES)
HE®  EEm
T — (HBIEES)

H 6.2-2 fEE R  H6.2-3 SLEE R IE




EEEhE iR

B16.2-5 T—%1) %L RBEE (i)

13
BN
_ ) Rt R
ZH iAo megFaAD b ECAR
: A i %
H
BAHR
= i
i
InEE Wﬁ
|
RS

SBBERSY

& 6.2-8 XV v RESBBRIFEOMERN

14




B 4 36

X 6.2-9 EIEA S R ERE B6.2-6 v+ M (-2 2~y F3t)

ERREERE K5 HAAMER

[ mawnx | maes | man | [xcfreng] - wx
L ]33 3

T e e ]

I l 35
HEHER [ﬁmfﬁ‘ﬂﬁé }-: =z

23 ’ FIEZHL, R

B 6.2-7 BA#HALERS 257570

16




HABNERE

[BEsz=wE |

l (PSA) KE AR

AST AL

6.2-10 ¥ AL EIF

WEAR
—>

17

150

18




